
 
 

B. A. 3rd Semester (Hons.) Examination 2022  

PHILOSOPHY 

Course ID: 30613                   Course Code: AH/PHI/303C-7 

Course Title: Deductive Logic (Western) 

Time: 2 Hours            Full Marks: 40 

The figures in the right hand side margin indicate full marks. 
Candidates are required to give their answers in their own words as for as practicable. 

দি¢ণ ĴাĜƐ সংখ�াªিল Ĵেűর পূণƳমােনর িনেদƳশক। 
পরী¢াথƳীেদর যথাসŕব িনেজর ভাষায় উóর িদেত হেব। 

1. Answer any five of the following questions:                     2x5 = 10 

িনŏিলিখত Ʊয Ʊকান পাচঁিট  Ĵেűর উóর দাও:     

a) What is a proposition? 

বচন িক?  

b) Define ‘Immediate Inference’. 

‘অমাধ�ম অনুমান’ –এর সংÑা দাও। 

c) Obvert the following: Children were present. 

িববিতƳত কেরা: িশŭরা উপিƐত িছল। 

d) If ‘Some poets are philosophers’ is true, what may be inferred about the truth or falsehood of 
the following proposition: All poets are philosophers. 

যিদ ‘Ʊকােনা Ʊকােনা কিব হয় দাশƳিনক’ সত� হয় তাহেল, িনেŏা�বচনিটর সত�তা বা িমথ�াü সŐেকƳ িক 

অনুমান করা যােব: সকল কিব হয় দাশƳিনক।  

e) Represent an empty class with the Venn diagram. 
 Ʊভনিচেøর সাহােয� একিট শূন� ƱŴণীেক উপƐািপত কেরা। 

f) What do you understand by the Figure of a Syllogism? 
ন�ােয়র সংƐান বলেত কী Ʊবােঝা? 

g) What is meant by the distribution of a term? 
পেদর ব�াপ�তা বলেত কী Ʊবাঝায়? 

h) When an argument form is valid or invalid? 
একিট যুি�র আকার কখন Ʋবধ বা অৈবধ হয়? 

2. Answer any four of the following questions:                             5x4=20                              

িনŏিলিখত Ʊয Ʊকান চারিট  Ĵেűর উóর দাও:        

a) What is meant by ‘Existential Fallacy’? Explain with an example. 

‘অিƌüমূলক Ʊদাষ’ কােক বেল? একিট উদাহরণসহ ব�াখ�া কর।  
b) Symbolize each of the following using logical notation of propositional function and 

quantifiers:                                                                                                        2.5+2.5 



 
 

িনŏিলিখতªিলেক বচনােপ¢ক ও মানক ব�বহার কের Ĵিতকািয়ত কর: 
i) Snake bites are sometimes fatal 

সপƳদংশন কখেনা কখেনা মারা÷ক হয়। 

ii) Any girl is healthy if she exercises regularly. 

Ʊয Ʊকান বািলকা ƗাƐ�বতী হেব যিদ Ʊস িনয়িমতভােব ব�ায়াম কের।  

c) Prove the invalidity of the following argument by the method of assigning truth-
values: 

 ܤ ੦ ܣ~

 ܣ כ ܥ
   ܥ ੦ ܤ~

 ∴  (ܣ. ܤ) ~ 

সত�মুল� আেরাপ পĆিতর সাহােয� িনেŏর যুি�িটর অৈবধতা Ĵমাণ কর:   

 ܤ ੦ ܣ~

 ܣכ ܥ
   ܥ ੦ ܤ~

 ∴  (ܣ. ܤ) ~ 
d) What is the standard form of categorical syllogism? Name the fallacies committed and the rule 

violated by the following syllogistic form:  
                                                    AEO-3 

আদশƳ আকােরর িনরেপ¢ ন�ায় কােক বেল? নীেচরন�ােয়র আকারিটেত Ʊয Ʊদাষ ঘেটেছ তা বল এবং Ʋবধ 

ন�ােয়র Ʊকান িনয়ম লিÀত হেয়েছ তা উেŬখ কর:  

                                     AEO-3 
e) Use truth-table to determine the validity of the following argument: 

If West Bengal suffers a severe drought then if Punjab has its normal rainfall then Hariyana’s 
water supply will be greatly reduced. Punjab does have its normal rainfall. So if Hariyana’s 
water supply is greatly reduced then West Bengal suffers a severe drought. 

সত�সারণীর সাহােয� িনেŏািলিখত যুি�িটর Ʋবধতা িবচার করঃ   

 যিদ পিŮমবাংলায় খরা হয় তাহেল যিদ পাØােব Ɨাভািবক বৃিŻপাত হয় তাহেল হিরয়ানায় জল সরবরাহ খুবই 

ƣাসপােব। পাØােব Ɨাভািবক বৃিŻপাত হয়।সুতরাং যিদ হিরয়ানায় জল সরবরাহ খুব কম হয় তাহেল 

পিŮমবাংলায় খরা হেব। 
f) Distinguish between contrary opposition and sub-contrary opposition.  

িবপরীত িবেরািধতা ও িবśĆ িবেরািধতার মেধ� পাথƳক� কর।   
 

3. Answer any one of the following questions:                         10x1=10 

িনŏিলিখত Ʊয Ʊকান একিট Ĵেűর উóর দাও:    

a) Test the validity of the following argument by means of Venn diagram:     5+5 

Ʊভনিচেøর সাহােয� িনŏিলিখত যুি�ªিলর Ʋবধতা িবচার কেরা: 

(i) All men must be women, for like women men are also mortal beings. 



 
 

সকল পুśষ অবশ�ই নারী, কারণ নারীর মেতা পুśেষরাও মরণশীল। 
(ii) Birds have wings. Aero planes also have wings. So, Aero planes are birds. 

পািখর ডানা আেছ। এেরােķেনরও ডানা আেছ।তাহেল,এেরােķনওপািখ। 
b) Identify figures and moods by changing each of the following arguments to a logical form and 

explain what went wrong if invalid:                                                                     5+5      

িনŏিলিখত যুি�ªিলর Ĵিতিটেক যুি�িবÑান সŗত আকাের পিরবিতƳত কের সংƐান ও মূিতƳ িনণƳয় কেরা এবং 

অৈবধ হেল িক Ʊদাষ ঘেটেছ ব�াখ�া কেরা: 
(i) He is too good to do this work. 

Ʊস এত ভােলা Ʊয এ কাজ করেত পাের না। 
(ii) Ice must be a disease; for ice is cold and cold is a disease. 

বরফ িনŮয়ই একটা Ʊরাগ; Ʊকননা বরফ ঠাëা এবং ঠাęা একধরেণর Ʊরাগ। 
c) Construct formal proof of validity for the following argument:                            5+5 

িনেŏর যুি�ªিলর Ʋবধতার আকারগত Ĵমান গঠন কেরাঃ 

i) (ܥכܦ ~)כܣ  
. ܣ  ܦ~
∴  ܥ. ܣ 

ii) (∃ݔ)(ݔܸ  . ݔܪ) 

(ݔ) ቀݔܯ כ ݔܪቁ 
∴          (ݔܸ. ݔܯ)  (ݔ∃)

 

 


